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12.

13.

14.

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

Prove that <.HHIM .

V=1-E eaan fpeys. . | 9.
Um.mno the operator A.
Qewell A eneu aianywimy.
Prove that (1+A)1-V)=1.

(1+A)1-V)=1 aar Hgiays.

Find Ae®.

Ae* —enwid sinains. . _ 1
Evaluate Alx(x+1)(x+2)(x+3)].

Alx(xe+1)(xc + NXR +3)]-ew sanflss.

Huu..o.<m that V=1-¢"

D srar fmieys.

1 B-Se E&rv ,.. n&oﬁz

V=l-¢*

Find the value of x when f(x)=19 15.
, x: 01 2

fx): 0 1. 20
f(x)=19 erempmed x —air S%Emsr_.w ETERTS.

x: 0. 1 =2

f#): 0 1. 20 i

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Solve the Gauss- orﬁybwﬁob method
2x+y+4z=12

8x—3y+22=20 . 17,

dx+1ly—z= ww :
smav-HBEse wperpepwit EE%E@.@& S,
2x+y+4z=12

8x—-3y+2z=20

4x+11y—2=33 .
Solve using Gauss-Seidal Bmgom

10x—5y-2z=3 : _ 18.

4x-10y+32=-3

x+6y+10z=-3.

BIGV—EEL_6) PPl LGTLHSS Side
10x-5y~-22=3 | .
%x_lHovlmnurw

x+6y+10z=-3.

3 ' 72017/SBAME

10.

!k |

o} Finte Nietoncy and
Nuwmenicel Op:o,f\t\w

Express the value of Atan™ x).
Altan™ x)-en AL Qeusflud (.

Sum the series to n terms |H|+|H|+|H|+
23 34 45
1 1 1 =, m-
——sto—t——+... aam Gsifée n eummberes
23 34 45 :

S (NSEREVE & TS

éwwﬂ is the error in Newton’s forward

interpolation formula?
By Leflen gparGamédu Qen_&QFmad @m%qw%mﬁ
tenip sTetren?

Find f(2) using divided difference formula if
f(0)=8; f(1)=68 and f(5)=128.

f(0)=8; f(1)=68 wpmd f(5)=123 erafles f(2)-en
wileu auguhelsduns @s8rsms LWETLID &5
SHTEHTE.

Find x (x) as a polynomial.

x: I R R

fx): 3 12 15 -21
f(x)-eow @@ uogy iy Carmeuins srems.

FES 3 2 1 -1

flx): 3 12 15 -21

72017/SBAME

.. mumvwowm f(x)=2%—3x2+5x+7 in terms of factorial

polynomial amwwbm h=2 and find its differences. ,
f(x)=x%-38x" +5x+T-anws smrenuIQUmEs
Logmiy - Ceramauwns  Geuafld@. h=2

THsastaram() Ssan sHwnshismens srams.

oTeuT

Find y at x=21
93¢ 20 23 26 29

y: 0.3420 0.3907 0.4384 OAmAm
x=21-6b y—an vHlwLS ENews.

x: 20 23 26 29
.0.3420 0.3907 0.4384 0.4848

Find a polynomial of degree 4.
x: 2 4 6 8 10
y: 00 1 0 O
4-<y1b LG LOPIMLILE CaTaaUaMmILG STams.
x: 2 4 6 8 10
y: 00 1 0 0

Find f(6) by Newton’s interpolation.

x: 1 2 7 8
fx): 1 5 5 4
f(6)-an  vdiuwu Aulielar QoL sGsmen
L uweru(hES srenTs.
E: 01 27 8
~flx): 1 5 5 4
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19.

20:

21.

Find .e@c..v using Hmmmmbmm,m method. - 29.

« x: 5 6 9 11
y: 12 13 14 16

Qavasrremgue weanitlg. y(10)-ar wHiienns srems.
‘x:-5 6 9 11
y: 12 13 14 16

PART C — (3 x 10 = 30 marks)
. - Answer any THREE questions.

Using Crout’s method solve

2x-y+32=16

w8+QINHIw i 23.

x+y+2=3

Gmiad apanperwits LTSS Siés.
2x-y+32=16

3x+y-z=-3

x+y+z=3 .

Find f(32) wusing Gauss central difference

formula, ) 24.
x: 25 30 35 40
fx) : 0.2707 0.3027 0.3385 0.3794 .
snadlen eww  Asdwuns - wapmiul LuGTLHSS
f(32)-enwié snams, b T g i
ol 25 30 36 40
f(x): 0.2707 0.3027 0.3385 .0.3794
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Estimate €**** using Stirling’s formula.

x: 061 062 0.63 0.64
e* . 1.8404 1.8589 1.8776 1.8964

x: 0.65 066 067
ef - 1.9155 1.9347 1.9542

avig feliE-GsSrsens  LiweL @.m.w% % aw
LY NIRICL:S . =
x: 061 062 063 0.64

e* : 1.8404 1.8589 1.8776 1.8964

x: = 065 066 087
e+ 19155 1.9347 '1.9542

Find y(45) using Bessel's formula.

x: 30 40 50 60

y: 452° 341 212 106
¥(45)-ér wélier Quavend GsHrsms LwaTLGHEHS
SIS

x: 30 40 50 60

y: 452 341 212 106

Find x for y=13.6
x: ,30 35 40 45 50
y: 159 149 141 13.3 125
y=13.6 -&@ x—a NS Srawms.
x: 30 - 35 40 45 50
y: 159 149 141 13.3 125
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